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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer as directed: : 1x10=10
o SeEE! ves it e
(@) Which of the following is not a

managerial function of human resource
manager ?

SARHITRET Il 72T 2

(i) Planning
A fFEmIe

Contd.



(ii) Motivation
ST

(iii) Organising
FRENGTRC

(iv) Controlling

gz Al

(Choose the correct answer)

(s Teweo) q1fz BlFedl)

(b) Which among the following is not a

technique of job analysis ?

OET CRINTO! P 03 R (et 7 2
(i)  Questionnaire
S|
(i) Job performance
T 2l
(W) Training
¥y
(iv) Interview

AT

(Choose the correct answer)

(O Sty iz Bfered)
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(@)

(e)

Projective test is a type of selection test.
(State True or False)

W—Wﬂqﬁma@ﬁwmws
(8% @ 957 [90)

Provident fund is an example of

(Bill irs| thel BIaTR)
3 @it TwEd |
(3Tl 1% 99 )

SRR =

‘Seniority is a base of promotion.

(State True or False)

@%Wﬁﬁaﬁﬁ%: (9% & 5&7 &730)

Which of the following is not an
involuntary separation ?

weTS Al (AU SRV AU pe] T 2
(i) Downsizing -
I G SN
(ii) Dismissal
ERI
(iii) Transfer by request
SECEIE R W
(iv) Termination
(Choose the correct answer)

(w5 Soaesl IR SE1ST)
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(9)

(h)

@)

0

Critical incident method is a method of
performance appraisal.
(State True or False)

ST oA ~Hafs Fog T Fisters bt ot |

(% 7 G fo3))
Rowan premium plan was developed
by D. Rowan in the year

Q= el sk . @Tﬁmmw%wm
FlaRE ?

() 1910 (s530)
(i) 1911 (555))
(i) 1901 (>50%)
(iv) 1921 (55%))

(Choose the correct answer)

(%% el A EfFedr)
Hobbles are included in work life
balance. (State True or’False)

mfwwﬁmwwﬁﬁmw—m

(&7 & Jo5 7))
In which Act the provisions relating to
the health of the workers are stated ?

Wﬂ%‘mwwﬁﬂmaﬁwmﬂm
WWW@‘W?
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Write very short answer: . 2x5=10

SO (eROERERIE

(@)

(b)
(c)
(@)

(e)

Write two characteristics of human
resource management.

TR =P ~ARIE 75T (R B

What is recruitment ?

T T 2

State two objectives of performance
appraisal.

Fog R 707 oy fo7l|

What is induction ?
Siaeesd e 2

State two causes of demotion.

AvIARed 7o 99 Tl <41 |

Answer any four of the following : 5x4=20
woiq fAgael ifblT Bes fra s

(@

(b)

Explain in brief the qualities of a
human resource manager.

ST Ao SREERS SR B 9 B
Write a note on fringe benefit. '
@o[mfRe A-RUE SRS «b (Gl &4l |
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(c) :Explain in brief the factors affecting
quality of work life.

FAGRAS &1 T eieiFe T | FRETE G
i =0

(d) State briefly the objectives of social
. security.
AN FIIeR STrIPTIR 530 B 71|

~ (e) State the difference between Personnel

Management and Human Resource
Management. '

& ARCERI AR TR ™17 ARDER Ao
AieT Gra
() Write a note on job description.

< Resfaw faca @61 Gt B

4. Answer any four of the following :
; 10x4=4(
TS [MAICIRS <1 Respza o135/ Tor By s

(i) What is performance appraisg] ?
Explain any two techniques of
performance appraisal.

FOF JoTRA el o2 TR R 757 v
Jefenl 5 |
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(@)

(iii)

- (iv)

(v)

(vi)

What is job analysis? Explain the
process of job analysis.

i e i B 2w Reses izt ol
4l |

Explain the importance of human
resource planning. What are__the
objectives of human resource planning ?

R TR SRS @35 I 1 | A AR

ARTEAR TORIPRR DI 2

What is human resource
accounting ? Explain the advantages
and disadvantages of human
resource accounting.

| e e e i [ WG Aem

fopieieEeR qﬁm%@ﬁﬁwaﬂmﬁ'

What is human resource management ?
Explain how the concept of emplc_;yees
is undergoing changes in recent times.

S oW ARDER e {2 e RS
=TI AREPTIR (AR #RTe (202 (1R KR
Fefa <=4 |

Describe the methods of executive
development programme.

T el SHEE AR Ui 4l |
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(vii) Explain the concept of employee
redeployment. What are the advantages
and disadvantages of employee
redeployment ?

wﬁwﬁgﬁﬁmmacﬁIWIﬁm@aw
e AR =1 SeRaEE R 3= |

(viii) Explain the methods of wage pajrrnents.

TGR Wi E TR T <5 |
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